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Instruction | 3288 | %BA

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
TEARMCE) B 2 AR > 35 A 2B B e 1 -
TEARWCE W55 2 I 7R AT > 16 A ZEFIF 3 -
2. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
B — BRI EME  SEEE H A EIEREE R -
X EARE2SE R W FEEEH A — A IEWRE S

3. Mark your answer to each problem on the answer sheet with a pencil. Check blackened answers for accuracy
and erase errors completely. Only answers that are properly marked on the answer sheet will be scored..

R RE R H PR SR SRR AE S R b - R R A R R IR R T PR N > RIS 5E
EREREBINE R o WAREEREES R LG RA YD
TR H A R AT BRI L o TR A RS R G TRk - g 52
EEEERINE R - ARSI EELT SR LNERA SWEED -

4. Every question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

HHEE H AL ER D E o BEEERHN S > BB AR05 o ARHIEHIR 7510053 ©
TR H AR AL E M E o R XA ) > B R ZE BAR05) o AR I 23 910053 ©

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

SR RRRAR ~ TTHEAR ~ R~ BAGSHMRBAERmEh TR  sHEG—ARFEMR o WEIHIR
A ATAT R RE DA JH T BT B2

SR RRRAR ~ AR ~ R~ BAGHRBAE AR TR < itFHEG—ARFEMNR o Wtk
A ATAR] [ LA A0 AT T B

Figures are not necessarily drawn to scale.

JEi| T AN — S 4% LU 5] A L

EIEA— gL 2l

Before beginning the test, make sure to write the Competition Code “Benjamin”, your name and Competition
ID with your signature on the answer sheet, especially to bubble in the 9-digit Competition ID completely!

FEFAAG B AT » EREOR A BT A Benjamin” » 1k 2 FIHES B SUH R FEZ R LARE 4 > 4
B JEONLHE 7855 1 5 AL 8 7 DA I AR R SR A R JTHR
TETFARIIIRZ A - 1B R C A SE 39S Benjamin” » REZFIESIE ST IEE MR FIE4 o 5
A FEIBLIEE -5 (0 4 AL AT AR URIFAH B R TT B -

. You will have 75 minutes to complete the test once your proctor tells you to begin.
B A EAT R IR - VR AT S 43 8 Y IR ) 5 G At
W I EAT I IRIG > UK A TS5 PP I ) 58 it -
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2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

‘ Part 1: 8 problems, 3 points each

(gE—#5: 8EEA, W34 | 4 8 EEH, HH3 5

1. What is the value of the expression below?
TaRkEXGMELS J?
TEAEXGELS VP

2024 x 0.03 x 2.3
20.24 x 30 x 23

(A) 0.01 (B) 0.1 1 (D) 10 (E) 100

[Proposed by Uganda | & #&#A48 | & FA44AT |

2. Alina folds the image below along the dashed line. Which of the following squares could

fold onto an identical one?
Alina B 5 EHZIE R TEHNE K. M TEIEESZHATHRES —EREGESH Ld?
Alina %R &I & T@OEH . F T @ANEFTHA T ES —ANFHFGESH La?

[ B¥e] [¢[O] | M IO
_____ 0| 1O O] __ Ql
XEE BORXEE |
¢ ¢
X N O%%WN
(a) @ [0 © L o) O] ® W

[Proposed by Iran | 47 2428 | 47 #7444 |

3. The weight restriction notice for an elevator says it can carry either 12 adults or 20 children.
According to the weight restrictions, what is the largest number of children that can ride

in the elevator with 9 adults?

EHNEZTMRAZELEGH: AEHRARAKI2 ERAR20 L2 E. RBEHHESR
#l, RERAZ VLR ERI LRA—RRELEH?

W T ERAFIRES S A RAEARK 12 ERAR20 LILE, RIEIHGETEMR
W, REZRAZ TV LILERI LRA—FREL BH?

(A) 3 (B) 4 Q5 (D) 6 (E) 8

[Proposed by Ukraine | & % @ift#a | & % 2454 |
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2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

4. There are 2 wheels each marked with 7 positions. The wheels spin in opposite directions
and each makes a complete turn in seven minutes. At the end of each minute, each letter
lies exactly in front of a number. The figure below shows the first two positions of the
wheels and we can see that initially letter A is in front of number 1, letter B is in front of
number 2, and so on. The wheels turn until letter C is in front of number 2. Which number

is letter F in front of at that point?

H2E%T, BEHTLEEA 7 @R WEHTHMRY S midd, FEHTELSE
N T — B BB RN, B8 FHABIT LA —REGITE. TEETT WEHT
P45 09 MABAR RS, RATT AR B T FH A A1 69T dE, FH B AK2 ¢aTdE, L
Ho BTHIEFHCHRAARK2 WA BT L, MERFARMEERE AT @2 FH F?

H2RET, BRARTLERA 7 MFR. AR TAMERN T @akdt, FRETELS4
NEZ—B. EEIERE, ENAFERBEIFZT AN TE. TALFTHRET
TG AANRES, BMTUAEINZMFH A LKL GG, FHBAK2 GG, Ak
o BTHFHE FHCHIAK2 697 @ iHF L, P RIRAS RO AT & 2 F A F?

1 min

(A) 1 (B) 3 ) 4 (D) 5 (E) 6

[Proposed by Mexico | & &4 | 2 o544 |

5. The average of four different non-zero natural numbers is 5. What is the greatest possible

difference between the smallest and the largest of these numbers?

w98 R R A9 A KA B ARBAG TR 5. ML RN BARRKBELENRRTRALR

50

WA R B AR A B AR RS THHR 5. FE LA B AR KR E R KT RALA

%02
(A) 6 (B) 8 (© 10 (D) 12 (E) 13
[Proposed by Australia | #2 X A| 4R | B X A] A% |
2024 HHEBEFRERRE—DESHFH 2 2024 HFHAKFEBRRER I EHER



2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

6. The rooms in the hotel are numbered in ascending order, starting from 1. No number is
omitted. Kangaroo counted the digits in all the rooms and found that digit 2 appears 14
times and digit 5 appear 3 times. What is the largest number of rooms there can be in the
hotel?

BE R A AL BB AR, T HIA A B R. RAK T A S MR T ORT,
BRARF2HERAT 14K, BFS5EATIR. MERBERSTRA S VELEMH?

BIEEIEAN 1 A5, FREAEEZR. BRRA&AFT T AL A5 P35,
ERBF2HAT 14k, HFS5HNT 3Kk MXRBERSTHRA 2V AER?

(A) 25 (B) 26 Q) 34 (D) 35 (E) 41

[Proposed by Slovakia | &% LR | 744X oA |

7. Rosa draws several identical rectangles to make the following picture. The width and the
height of the picture are 45 cm and 30 cm respectively. What is the area of one rectangle

in square centimeters?

Y

Rosa i —&AF M K FZHERT TEOE . BN L EF S A5 % 45 2 K430 2
Ko M—BRZHBHERS FF7ER?

)

Rosa Al =LA R @ KA HLH T TERGE . B R TEEA & En A A 45 2 KA 30 2
Ko Fl=ANKFH@BRES F-F 7 ERK?

(A) 24 (B) 27 (O 30 (D) 33 (E) 36

[Proposed by Malaysia | % # @ 4442 | B R & B4 |

2024 HAEBEREARFE—DE S FH 3 2024 FHBFRBGER DTS
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2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

‘ ‘\’
) )
8. A fruit bowl Contains five types of fruit: i, @ , and Al likes Bok
®,

A ‘\’
o9 ) @a@ D i @ %
likes , and . Cam likes % and . Don likes <

7

&
0..

O
2

(>

and % Eva likes i and % The fruit is shared so that everyone gets a different type

of fruit and everyone gets a type of fruit that they like. Who gets

‘ ‘\’
296 ..9..6
— {8 AR A FAE KR i < Al 5O Bok 5@,
)
N ) .0.020. Ao ) i o % i
3 ..... . ... .
o Cam &3 ¢ Don &-#k L2 - Eva &#k

3’0 KREXREF, FEALFAT —HARGKR, LAHFBEAFRGHLATE

>

<%
Qs

(>

>

A KR MR KRR

?
0%09)..6..60
555
"/\%ﬁﬁlﬁiﬂ’ﬂi% < Al ﬁﬂ)\ Bok &k
). %00). 0% ()
0] % 0] %
Cam &3 @ Don &3k < Eva &%

30 KRB KREF, HFAMAAAREAT —FHRRGKR, FLEMMAFRGHRLDTE

2
0
2

(>

KA KR B IFE] A KR
(A) Al (B) Bok (C) Cam (D) Don (E) Eva

[Proposed by Switzerland | 3% :4t88 | 3% 44 |

(#-@ms: 9EER, SEAS | EHH: OEBE, SE4H

9. Water makes up 80 percent of the mass of fresh mushrooms. However, water makes up
only 20 percent of the mass of dried mushrooms. By what percentage does the mass of

the mushroom decrease during drying?

BEEIEP A KAET 2N, Rwm, FEHEFOKMET =+ M ARG BREFY, B
%%EﬁﬁyTﬁn Z %>

HEBEHEFHRKEGIZIANT, Ad, FEHFHRKEGIZI =T, MAETFRGTR S, B
BHEYRERY TEHZS)?

(A) 60 (B) 65 (@ 70 (D) 75 (E) 80

[Proposed by Hungary | & F #1468 | & F A4 |

2024 HABERRARE—DESHFHR 4 2024 FHABFERER D FEHFR



2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

10. Mary’s daughter gave birth to a baby girl today. In two years’ time, the product of the ages
of Mary, her daughter and her granddaughter will be 2024. Mary’s and her daughter’s

ages are both even numbers. What is Mary’s age now?

Mary #9 & SRAKAET T —BRR. mFH%, Mary. H6d 20 52 Fokb b 35 4009 5586 09 /AR
2 2024, T4 Mary Fokb 45069 580 A2A8 3. P Mary B S8 2 %V R?

Mary #9% I)LAKET T —A%HE. MmF)E, Mary. o 6d 20 )UFedkb b9 70409 558 69 T4
22024, 24 Mary Fokt 4 )U6) S48 248 4k, 7] Mary LA F#2 % ) %2

(A) 42 (B) 44 (O 46 (D) 48 (E) 50

[Proposed by Hungary | & F #1464 | & F A4 |

11. The Braille system for blind people, when written down, has the digits 0 to 9 represented
by a set of black or white dots, as shown below. How many different two-digit numbers

contain exactly five black dots?

HBAFTAEAGE LA, WBHF, #0590 0WEEKTH—M2E3E E0LEAT.
M % V{8 WA b4 0.4 A48 2 85

HFHEAMLAGEXLAR, BT, K059 MENKFTH—AZERG EHELT
FA 5 Y ABARS T oS B B

o)X ® O ® O o0 o0
e ) o001 e02 003 o0ce/4
oJo) o)e) o)e) o)e) 00
® O o0 o0 ® O o) )
ce 5 eop ee/ ee 8 09
oXe) oJe) o)e) o)e) 00

(A) 16 (B) 18 (© 30 (D) 32 (E) 34

[Proposed by Russia | 4% 2 Mr#5A2 | 4% F A AL |

2024 HAEBEREARFE—DE S FH 5 2024 FABFRALR— DTS
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2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

12. The figure below shows a beehive with 16 cells. Some of the cells contain honey. Two cells
are neighbours if they share a common edge. The number in each cell indicates how many

of its neighbouring cells contain honey. How many cells in the beehive contain honey?
TEETT—EA 16 @S5GN EE, FLER P aaEE. mESE R XA NE6:E, A
MeAmiRe. SRS PHRFATRHECAROEETAF S VELAKRE, MAEA 2
VAR PSR EER?

THETT —AAI6ANERTHER, FLEFTOAEE. AMNERRANENL, N
FREMNAMAREY . HNEGTHRFRTECHANERYT A S IANECAKE, LA S

IAER T R ER?
(A) 6 (B) 7 © 8 (D) 9 (E) 10

[Proposed by Turkey | +FH AR | £ F LA |

13. There are three identical special dice on the table. What is the sum of the numbers on the
faces that touch the table?

2ERAEZMAAEGFEBTF. M2 TEMBO G LW ZASGEFT S V?
2EEAREZANME NIRRT, ME52FEMOEEOIANAHKGERTE V2
3 (=P 27

(A) 26 (B) 40 (O 43 (D) 47 (E) 56

[Proposed by Slovakia | #fi& X% S8R | 74X o 64 |

2024 HAEBEREARFE—DE S FH 6 2024 FABFRALR— DTS
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2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

14. The figure shows four touching rectangles. What is the area of the shaded rectangle in

square centimeters?
TERATTOERZEBO KTV, MESERIBGOMRLS VF7RK?

THZFTWAMIZERG KT, FAAZRIVGaRES V-F7EK?

5cm
>
45 cm?
13 cm ?
48 cm?
40 cm?
16 cm
(A) 12 (B) 14 (O 16 (D) 18 (E) 20

[Proposed by Myanmar | 45 @) 28 | 45 @) 4541 |

15. Ava writes a three-digit number on the whiteboard. Then Brandon writes a fourth digit
to the right of the previous ones. He says “Look! The number increased by 2024”. What
digit did Brandon write?

Ava LB L& T —A=4i3k., A% Brandon ZAZ AN A% S T HOEAIKF. 3 R
F, B E#F LR K 2024, "M Brandon & 44 2 AR{E $ F?

Ava AWM EB T —AZ4i 4, K5 Brandon ARXAKG EAE T Hw A F, feit: Ik
&, XAFH LR K 2024, 7 ¥ Brandon B 4 2R H P

(A) 2 (B) 3 Q) 4 (D) 8 (E) 9

[Proposed by Catalonia | #n &% & ZAEM | v ¥ R IEAEA |

2024 HAEBEREARFE—DE S FH 7 2024 FABFRALR— DTS
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2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

16. In the figure below, AABC and ADEF are two congruent isosceles right triangles. Given
that AB = 9, EC = 3, what is the area of the shaded region?

o F B p7F, AABC 4a ADEF 2 Rt R $EEAZ A . Cn AB=9, EC=3, M
Y EBOTELS S

o FTEF*, AABC #« ADEF A AR SR A=ZAN. 2o AB=9, EC=3, [
MHFRBHERES V2

A D

/| AN

F~—p g C

(A) 24 (B) 27 (C) 30 (D) 33 (E) 36

[Proposed by Philippines | 34 & 454 | JE4E 444

17. Alex drives from point A to point B, then immediately returns to A. Bob drives from point
B to point A, then immediately returns to B. They travel on the same road, start at the same
time and each travels at a constant speed. Alex’s speed is three times Bob’s speed. They
pass each other for the first time 15 minutes after the start. How many minutes after the

start will they pass each other for the second time?

Alex Bl £t A Z:3| B 86, AR PP = % A B, Bob B £4¢ B 2% A B, AR LA
3| B 2. ©FAATE, RSB, B AL Z 6 iR EAR — il TR Alex #9i% &
A Bob #9 =45, M A E 3 15 A% — kMG, MK BHEFR;EHEAEME S = k4
g7

Alex FHEM A 53| B &, REZPPAEE A S, Bob FERB £33 AL, Rz iAE
3| B 5o ANAEATE, RAHA, ARG IR ELR —FEL EITH, Alex #9i&
& Bob 89 =4%. WAVEE K 15 54b)E % —RAiE. FIAKE X AR 04 B i1 5 = k48

i P

(A) 20 (B) 25 (C) 30 (D) 35 (E) 45

[Proposed by Moldova | B % LA | BR 5 B

2024 HAEBEREARFE—DE S FH 8 2024 FABFRALR— DTS
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2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

‘ Part 3: 8 problems, 5 points each
(=64 8HEE, BES5H | £=H%: 8 HHEE, 5HES5 5

18. Ria wants to complete the puzzle shown on the right so that each row and each column
contain the numbers 1, 2, 3 and 4 exactly once. She wants to place the numbers so that the
greater than and the less than symbols (> and <) give a correct relationship between the
values on two sides of them. An example is shown on the left where the symbols work in

all directions. What number should she place in the grey circle?

Ria B Z T R4 & B =093 8, #1358 —47. HF—Fad#l, 2,3, 4 54F—%k. F 2
B GBAATE F KA T A (> Ao <) AREFEAT T AN MR 69 B8 2 R 69 B 4%
EB&ET —ETH, ZA8 &8 KibFe ) ARAE EREY ., MUEZAERECE B ¥ RKE
RAE 2

Ria 4% % Mo B B T 093k 8, 235 —47 F—Flad %1, 2, 3, 4 iF— k. ®AEZ
HEHBALFAF KT ADTOFT O <) HBEARTTEMNABMGRAZ MG X R
ERLET—ATH, EATEGRXTRDTIHZEARG, PR ZERERE T KE

RN EC?
O O CR O
0 0:9-0
<i3<(3> ONONONO
@-0 O O O O
(A) 1 (B) 2 O 3
(D) 4 (E) 20r3 | 2%3 | 233

[Proposed by Norway | #p /A2 | #f A A% A |

19. We say an integer “wonderful” if it is divisible by 11 and it has only even digits. For
example, 2024 is a wonderful number. How many three-digit wonderful numbers are
there?

do B —{B LA AR 11 s, wm B R OGRS, RAIEAE L A E 4687, lde, 2024 3%
R —BEW I MAESAAEK T, XA S @A ELGR?

do NS AR 11y, R GG R A, RANAREACEW 7 Hde, 2024 3
R ANEWHH, MAESAHKY, EH S VANEW G

(A) 7 (B) 8 @ 9 (D) 10 (B) 11

[Proposed by Malaysia | % s v 4528 | 5k i AT |

2024 HAEBEREARFE—DE S FH 9 2024 FHBFERER D FRFAR
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2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

20. Dimitri wants to fold the net shown to make a cube. He wants the triangles that touch the
edges of neighbouring faces of the cube to be shaded with the same color. How should

he shade the triangles of the unshaded square in the net?

Dimitri 842 & & #7769 -F @ & B B 47— 18 = 788, oA 2 A 2 7R Amir @ ey kg b
BEOME = ABRRELMRAGAEC, MR TEERB T ESH NG = AN
re&r

Dimitri #24¢ @ F Bf 7 69 - @ & B 3 R — A L7 o MoAi B 5 kAR AR d g ki b
BROBAANZABHEALMEAGAE. MR ZTLETFRYZOEFHBAGZAF
r&r

(A) (B) (@) Ea (D) w (E) E

[Proposed by Germany | & B 4:2 | /& E 4444

21. The figure shows a square with four circles of equal area, each touching two sides of the
square and two other circles. What is the ratio between the areas of the black region and

the grey region?

TEET T —AEFHFew (@ @ihta F 69, 8 8 RE K6 HigFe R ok fm 8 AR EE .
MEZEeEBRBRMRCERGEOHEZIILE S V2
THEFRT —AEFHmAGRMAEGE, AR5 EZH G HAFS 55 A B A8 fk
FZERRFRERBRGERIILE S )P

7Y

A

(A) 1:4 (B) 1:3 (Q 2:3 (D) 3:4 (E) m:1

[Proposed by Pakistan | &7 ptaa | & kb ia 4ha |

2024 HAEBEREARFE—DE S FH 10 2024 FHBFERER D FRFAR
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2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

22. Dan plans to cut a rope into 12 equal pieces and marks points where he needs to cut.
Muhammad plans to cut the same rope into 16 equal pieces and marks points where he
needs to cut. Then Maya cuts the rope at all the marked points. How many pieces does

Maya get?

Dan €+%J%%*#Fcé&§%%ﬂﬁi 12 %4y, #£AFZWEGHTMT 9. Muhammad 3354 )
— RGBT IR 16 4, BAEEFZ I T LI K& Maya £ PR 694532 85 R I BT
4“5, B Maya *‘%ﬁil} T % &

Dan 3% 4%*#&%%@)& 12 &4y, FAEESEWE R T 325, Muhammad %) % R
— BT R 16 F4r, AT EZWE M T T LT, KRG Maya £ 7R 89471 &4 b1 B
%%, Fl Maya ”,\ﬁﬂé‘] T3V

(A) 24 (B) 25 Q) 27 (D) 28 (E) 29

[Proposed by Israel | A& F|4E28 | A& 3454 |

23. Ann played a game as follows. From the starting position, she went straight 18 meters,
then turned 36 degrees to the right. After that, she went straight again 18 meters, then
turned 36 degrees to the right, - - - and so on, until getting back to the starting position.
What is the total distance that she walked in meters?

Ann iEATde T AR . HATERLS, HIEAHATE 18 REMAH 36 Z. BARIETT
18 K, KA AW 36 K, ulkl:#é#fi AR @B AR E, MBI ANERRS )
X2

Ann #ﬁ&nTé’J«ﬁiﬂz MAL BTG, WD AEATH I8 KRG w44 36 Bo AR AT
18 K, REBwAE 36 K, IR, AIWIRGOLE, FUELENEFRSZ D

ke
(A) 108 (B) 126 (O 144 (D) 162 (E) 180
[Proposed by Vietnam | ki 4kR8 | Ak 44 |
2024 bR AHE L EHEH 11 2024 HBHEEAER N EBER



2024 Hong Kong Mathematics Kangaroo Contest - Benjamin (Grade 5 & 6)

24. The figure below shows the plan of the seven train routes of a small town. The circles
indicate the stations. Martin wants to paint the lines in such a way that if two lines share a
common station, then they are painted with different colours. What is the smallest number

of colours that he can use?

TEETT @bk K2R3 8. BB AT $s5. Martin # 28 AEH G 7
RRGHRPEE, A RAEBEA XA L, RBECMNKARRGEE. MRS
ZEABERAE?

THRERT —ANPMMEGLEKEREZOARNE. BB AT F35. Martin 4 2 28 5 XA 69 7
RERDBBRERE, $130 R EAREAELERAGES, RLCNKAE RRGRE., FHK D
T AE B LR &2

(A) 3 (B) 4 Q5 (D) 6 (E) 7

[Proposed by Greece | A I A%RE | A B4 |

25. All the kangaroos on AKSF Island are either grey or green. Every time when the clock
strikes midnight, some of the kangaroos change their colors. Yesterday, there were 6 grey
kangaroos for every 5 green ones. Today, there are 3 grey ones for every 4 green ones.

What is the smallest possible number of kangaroos that changed the color overnight?

AKSF & LR 6 B RAR R EH KA EH . % FREFFTE, —BRAGGHREC
Tt E. R, REZLRAKERANHKETINA6:5, &K, REKRABLEELRAY
HEXWA3: 4, MEFREREAEHRARSTRA 2 X2

AKSF & L B RARAR G KB GG, BYEFRAP B0, —RBARKLKEE
Megme., R, RERRAHHERANHETZIRL6:5, &K, KRR 5%E
HEZLR3: 4, FAFREATRENREARYTRA SV L2

(A) 3 (B) 6 © 9 (D) 13 (E) 17

[Proposed by Hong Kong | ##4%R | 8444

2024 HHEBEFRERRE—DESHFH 12 2024 HHKFBRRAER PR
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